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Example  :
From the above frequency table  , complete the table the answer the questions 
1.The number of objects with age less than 50 years ?
         11 +46 = 57   or from cumulative frequency =57
2. The number of objects with age between 40 -69 years ?
          46 +70 +45  =161   (From frequency column)
3. The relative frequency of objects with age between 70 -79 years ?
       0.0847   (From relative frequency column)
4. The relative frequency of objects with age more than 69  years ?
       0.0847+0.0053= 0.09  (From relative frequency column)
5. The percentage of objects with age between 40 -49 years ?
   Percent = relative frequency x 100
                  = 0.2434 x 100 = 24.34%
6. The percentage of objects with age less than  60  years ?
     Percent = relative frequency x 100
                    =0.6720 x 100 = 67.20%
7 .  Variable is ……..Age 
[bookmark: _GoBack]    Types of variable is  …..  Quantitative continuous
8. True class interval for the interval (50 – 59)
       1)  d = gap = 40 -39 =1
       2)   d/2 = ½  = 0.5
       3)    ( 50 -0.5 , 59 +0.5) = (49.5 ,59.5)
9. Width is …..W= 40 – 30 = 10   
10 .Sample size  .n = 189 (sum of the frequency column)
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Answer the following questions :
1. The variable is …..Pathologic tumor size
2. Type of variable is …..Quantitative continues
3. The sample size is …
. n = 13 +35+17+18+15+11 = 110
4. The chart name … 
                   Histogram
5. The number of patient  with the lowest pathologic tumor size is …
                   13
6. The percentage of cancer patients with approximate tumor size = 2
Percent = Relative frequency x 100
                = f/n x100 
                =18/110  x100
                = 16.36 %
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